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Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions
Question 1: A. approached

B. sacrificed


C. unwrapped


D. obliged
Question 2: A. dam


B. planning


C. plane


D. candle

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of primary stress in each of the following questions.
Question 3: A. prepare

B. repeat


C. purpose


D. police

Question 4: A. economics

B. philosophy


C. engineering


D. preposition
Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.
Question 5: Mrs. Brown usually remembered her husband’s birthdays, _______
?
A. doesn’t she


B. did she


C. didn’t she


D. does she

Question 6: The university


by private funds as well as by tuition income

A. is supported

B. supports


C. is supporting

D. has supported
Question 7: Nowadays we rely increasingly


computers to regulate the flow of traffic in the town.
A. in



B. at



C. to



D. on

Question 8: The more the economy grows,





A. the good people’s living condition is
B. the worse people’s living condition is

C. the better people’s living condition is
D. the best people’s living condition is 
Question 9: My mother often wears a pair of



gloves when she washes the dishes.
A. black leather small comfortable Chinese


B. comfortable small black Chinese leather

C. comfortable small black leather Chinese


D. small comfortable black leather Chinese

Question 10: When they



in the garden, the phone


.

A. worked/ was ringing
B. worked/ rang
C. were working/ rang

D. were working/ were ringing

Question 11: Josh is one of the best students of the school. 

, he can’t pass the national chemistry exam.

A. Moreover


B. Therefore


C. Although


D. However

Question 12: I hope they will have finished building the road 





A. after we came back last summer



B. by the time we come back next summer

C. until we will come back next summer


D. as soon as we came back last summer

Question 13:

from the horse back, he was taken to hospital and had an operation.

A. Having fallen

B. Fell



C. Fallen


D. Being fallen

Question 14: It is reported that human are the important reason for most species’ decline, habitat and


A. destroy


B. destructive


C. destructor


D. destruction

Question 15: The government hopes to _________ its plans for introducing cable TV.
A. turn out 


B. carry out 


C. carry on 


D. keep on
Question 16: It is a very popular play, and it would be wise__________ seats well in advance.
A. occupy 


B. buy



C. book 



D. preserve

Question 17: Losing my job was a


. I would not have found this one if it hadn’t happened.

A. bleeding heart

B. breath of fresh air

C. blessing in disguise
D. bone to pick with

Question 18: Every day thousands of

fly the Atlantic for negotiations with American firms.

A. businessmen

B. dealers


C. merchants


D. tradesmen

Question 19: The APC is a _____restaurant with a long and successful sales history.

A. respectful 


B. respecting             

C. respective               D. respectable
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best completes each of the following exchanges.
Question 20: Mike: “Our living standards have been improved greatly. ” - Susan: “.......................... ”
A. Thank you for saying so. 


B. Sure. I couldn’t agree more. 
C. No, it’s nice to say so 


D. Yes, it’s nice of you to say so.
Question 21: Cindy: “Your hairstyle is terrific, Mary!” - Mary: “.......................”
A. Yes, all right. 


B. Thanks, Cindy. I had it done yesterday. 
C. Never mention it. 


D. Thanks, but I’m afraid.
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.
Question 22: The use of lasers in surgery has become relatively commonplace in recent years.

A. comparatively

B. absolutely


C. relevantly


D. almost

Question 23: The atomic bomb annihilated the whole city, so nothing was left standing.

A. disturbed


B. constructed


C. converted


D. destroyed
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.
Question 24: There is growing concern about the way man has destroyed the environment.

A. ease     


B. attraction     

C. consideration    

D. speculation
Question 25: The minister came under fire for his rash decision to close the factory.

A. was dismissed    

B. was acclaimed    

C. was criticized    

D. was penalized

Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions.
Question 26: We(A) only get(B) home (C)from France(D) yesterday.
Question 27: Laser discs provide(A) images of better quality(B) than that(C) of either(D) television signals or video tapes.
Question 28: Even though (A) they are among the smallest(B) carnivores, weasels will attack animals that(C) are double its(D) size.
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks.
A stinky gym bag in your kitchen ? Who will be more upset by the smell - the men or the women in your family? (29) _______ scientists suggest that women not only smell, but feel, taste, and hear more accurately than men. 

Take colors, for example. Ono study suggests that men are not as good as women at distinguishing between(30) _______ of color, although they focus well on rapidly changing images. As for touch, small fingers have a finer sense of touch, whether male or female. 

Hearing is possibly one of the most debated areas, when talking about the senses. Evidence shows that boys hear as well as girls at birth, but with age, a man’s hearing may soon deteriorate. (31)__, environmental factors could play a role in this. Women may also be better at identifying different flavors (32) _______ need both taste and smell to experience, as studies have shown that they have more taste buds on their tongue. 

Going back to the smelly gym bag - yes, it’s likely that Mom will be the most (33) _______ out by it. But is that because women’s brains have more ‘smell cells’; or because you were too lazy to move it?

Question 29: A. Each 

B. Some 


C. Another 


D. Every

Question 30: A. smells 

B. senses 


C. shadows 


D. shades

Question 31: A. Moreover 

B. Therefore 


C. However 


D. Due to

Question 32: A. who 


B. which 


C. where 


D. whom

Question 33: A. taken 

B. sprung 


C. amazed 


D. freaked

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions.
Have you ever entered a tropical rainforest? It’s a special, dark place completely different from anywhere else. A rainforest is a place where the trees grow very tall. Millions of kinds of animals, insects, and plants live in the rainforest. It is hot and humid in a rainforest. It rains a lot in the rainforest, but sometimes you don't know it's raining. The trees grow so closely together that rain doesn't always reach the ground. Rainforests make up only a small part of the Earth's surface, about six percent. They are found in tropical parts of the world. The largest rainforest in the world is the Amazon in South America. The Amazon covers 1.2 billion acres, or almost five million square kilometers. The second largest rainforest is in Western Africa. There are also rainforests in Central America, Southeast Asia, Northeastern Australia, and the Pacific Islands Rainforests provide us with many things. In fact, the Amazon Rainforest is called the "lungs of our planet" because it produces twenty percent of the world's oxygen. One fifth of the world's fresh water is also found in the Amazon Rainforest. Furthermore, one half of the world's species of animals, plants, and insects live in the Earth's rainforests. Eighty percent of the food we eat first grew in the rainforest. For example, pineapples, bananas, tomatoes, corn, potatoes, chocolate, coffee, and sugar all came from rainforests. Twenty-five percent of the drugs we take when we are sick are made of plants that grow only in rainforests. Some of these drugs are even used to fight and cure cancer. With all the good things we get from rainforests, it's surprising to find that we are destroying our rainforests. In fact, 1.5 acres, or 6,000 square meters, of rainforest disappear every second. The forests are being cut down to make fields for cows, to harvest the plants, and to clear land for farms. Along with losing countless valuable species, the destruction of rainforests creates many problems worldwide. Destruction of rainforests results in more pollution, less rain, and less oxygen for the world.

Question 34: What is the passage mainly about?

A. Where rainforest are located.   


B. Kinds of forests.

C. Facts about rainforests. 



D. How much oxygen rainforests make.

Question 35: According to the passage, rainforests provide human all of the following EXCEPT?

A. Oxygen

B. Lung problems
C. Drugs used to fight and cure cancer. 
D. Fresh water.

Question 36: Why is Amazon Rainforest called “Lungs of the planet”?

A. It uses much of the world’s oxygen. 


B. It helps circulation.

C. It provides much of our air




D. It helps us breathe.

Question 37: What is the most likely reason why the author is surprised that we are destroying rainforest?

A. They are necessary for the health of our planet.

B. It will be too difficult to grow food without them.

C. They are necessary for the fight against cancer.

D. It will be too expensive to replant them.

Question 38: The word “humid” in paragraph 1 is closest in meaning to______.

A. dehydrated 


B. dry



C. cool 


D. moist
Read the following text and circle the best answer among A, B, C, or D on your answer sheet for the questions
The best cloud computing services offer the opportunity for businesses to undergo digital transformation in order to improve efficiency and reduce costs.

Cloud services have revolutionized computing, not least through IaaS, PaaS, and especially SaaS, which have allowed businesses to develop virtualized IT infrastructure and deliver software through the cloud, independent of a user's operating system.

Even better still, businesses can also mix and match cloud services from different providers through cloud brokers in order to ensure these services work to maximum efficiency and cost effectiveness, but also to reduce the chances of vendor lock-in while also improving redundancy. This may require additional cloud management software, but for larger businesses the economic benefits can be significant.

Because cloud services are run through software platforms and virtualized networks, it means that it's easy to access and analyze data for the purposes of analytics as well as for business intelligence purposes. It also makes it easier to simplify all aspects of monitoring through cloud orchestration and the easy processing of log files through cloud logging services. The result is IT infrastructure that allows for better maintenance and patching, while providing for insights that would have previously been much more difficult to access.

Cloud computing services also offer the advantage of being scalable, which means not only can you access additional resources exactly as you need them, but you are also charged only for the services you use so there's no need to buy in extra hardware for additional redundancy.

This especially applies to when storing data, as online cloud storage can be treated as effectively limitless. Even though you might be using cloud databases for your structured data, you can also archive everything else into massive data lakes for additional processing using AI and machine learning for greater insights.

Altogether, cloud services offer unparalleled potential for improving business performance and increasing profits, and here we'll look at the best cloud computing service provider.

Question 39: Which best serves as the title for the passage?

A. Best cloud computing services


B. Virtualized IT Infrastructure

C. Software Platforms and Virtualized Networks
D. Cloud Computing Services

Question 40: The word “benefits” in paragraph 3 is closest in meaning to



.

A. messages


B. advantages


C. products


D. percentages

Question 41: In paragraph 2, cloud services from different providers can be mixed and marched in order to


.
A. ensure maximum efficiency and cost effectiveness
B. find suitable cloud brokers

C. make these potential services free



D. have additional cloud management software

Question 42: The word “that” in paragraph 4 refers to




A. files



B. services


C. result


D. IT infrastructure

Question 43: The word “limitless” in paragraph 6 is closest in meaning to


.

A. drowsy


B. vicious


C. infinite


D. gorgeous

Question 44: Which of the following is NOT true, according to the passage?

A. Cloud services have allowed business to develop virtualized IT infrastructure

B. With cloud services, it’s easy to access and analyse data for the purpose of analytics

C. Cloud computing services are powerful but not scalable

D. You can achieve everything else using AL and machine learning

Question 45: Which of the following can be inferred from paragraph 6?

A. Online cloud storage cannot be treated as effectively limitless

B. Cloud services improve business performance and increasing profits dramatically

C. Cloud databases for your structured data haven’t been ready to use

D. Machine learning for greater insights is technology of the far future

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions.
Question 46: I haven’t visited my hometown for a few years.

A. I have been in my hometown for a few years.

B. I last visited my hometown a few years ago.

C. I didn’t visit my hometown a few years ago.

D. I was in my hometown for a few years.

Question 47: “You cheated in the exam,” the teacher said to his students

A. The teacher insisted his students on cheating in the exam

B.  The teacher prevented his students from cheating in the exam

C. The teacher advised his students to cheat in the exam

D. The teacher accused his students of cheating in the exam
Question 48: It is possible that we won’t have to take an entrance exam this year. 
A. Perhaps we don’t have to take an entrance exam this year. 
B. We mustn’t take an entrance exam this year.
C. We mightn’t take an entrance exam this year. 
D. It is likely that we will take an entrance exam this year.
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions.

Question 49: I regret that you didn’t give me a chance to tell you the truth

A. I wish you didn’t give me a chance to tell you the truth

B. I wish you gave me a chance to tell you the truth

C. I wish you had given me a chance to tell you the truth

D. I wish you hadn’t given a chance to tell you the truth

Question 50: The phone stopped ringing the moment I got downstairs

A. No sooner had the phone stopped ringing than I got downstairs

B. After the phone had stopped ringing, I got downstairs

C. Hardly the phone had stopped ringing when I got downstairs

D. No sooner had I got downstairs than the phone stopped ringing
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Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.
Question 1: There is growing concern about the way man has destroyed the environment.

A. ease     


B. attraction     

C. consideration    

D. speculation
Question 2: The minister came under fire for his rash decision to close the factory.

A. was dismissed    

B. was acclaimed    

C. was criticized    

D. was penalized

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks.
A stinky gym bag in your kitchen ? Who will be more upset by the smell - the men or the women in your family? (3) _______ scientists suggest that women not only smell, but feel, taste, and hear more accurately than men. 

Take colors, for example. Ono study suggests that men are not as good as women at distinguishing between(4) _______ of color, although they focus well on rapidly changing images. As for touch, small fingers have a finer sense of touch, whether male or female. 

Hearing is possibly one of the most debated areas, when talking about the senses. Evidence shows that boys hear as well as girls at birth, but with age, a man’s hearing may soon deteriorate. (5) __, environmental factors could play a role in this. Women may also be better at identifying different flavors (6) _______ need both taste and smell to experience, as studies have shown that they have more taste buds on their tongue. 

Going back to the smelly gym bag - yes, it’s likely that Mom will be the most (7) _______ out by it. But is that because women’s brains have more ‘smell cells’; or because you were too lazy to move it?

Question 3: A. Each 


B. Some 


C. Another 


D. Every

Question 4: A. smells 

B. senses 


C. shadows 


D. shades

Question 5: A. Moreover 

B. Therefore 


C. However 


D. Due to

Question 6: A. who 


B. which 


C. where 


D. whom

Question 7: A. taken 


B. sprung 


C. amazed 


D. freaked

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.
Question 8:

from the horse back, he was taken to hospital and had an operation.

A. Having fallen

B. Fell



C. Fallen


D. Being fallen

Question 9: The government hopes to _________ its plans for introducing cable TV.
A. turn out 


B. carry out 


C. carry on 


D. keep on
Question 10: Losing my job was a


. I would not have found this one if it hadn’t happened.

A. bleeding heart

B. breath of fresh air

C. blessing in disguise
D. bone to pick with

Question 11: It is reported that human are the important reason for most species’ decline, habitat and


A. destroy


B. destructive


C. destructor


D. destruction

Question 12: The APC is a _____restaurant with a long and successful sales history.

A. respectful 


B. respecting             

C. respective               D. respectable
Question 13: Mrs. Brown usually remembered her husband’s birthdays, _______
?
A. doesn’t she


B. did she


C. didn’t she


D. does she

Question 14: It is a very popular play, and it would be wise__________ seats well in advance.
A. occupy 


B. buy


C. book 



D. preserve

Question 15: Nowadays we rely increasingly


computers to regulate the flow of traffic in the town.
A. in



B. at



C. to



D. on

Question 16: Every day thousands of

fly the Atlantic for negotiations with American firms.

A. businessmen


B. dealers


C. merchants

D. tradesmen

Question 17: The more the economy grows,





A. the good people’s living condition is
B. the worse people’s living condition is

C. the better people’s living condition is
D. the best people’s living condition is 
Question 18: Josh is one of the best students of the school. 

, he can’t pass the national chemistry exam.

A. Moreover


B. Therefore


C. Although


D. However

Question 19: My mother often wears a pair of



gloves when she washes the dishes.
A. black leather small comfortable Chinese


B. comfortable small black Chinese leather

C. comfortable small black leather Chinese


D. small comfortable black leather Chinese

Question 20: The university


by private funds as well as by tuition income

A. is supported

B. supports


C. is supporting

D. has supported
Question 21: When they



in the garden, the phone


.

A. worked/ was ringing
B. worked/ rang
C. were working/ rang

D. were working/ were ringing

Question 22: I hope they will have finished building the road 





A. after we came back last summer



B. by the time we come back next summer

C. until we will come back next summer


D. as soon as we came back last summer

Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions
Question 23: A. approached

B. sacrificed


C. unwrapped


D. obliged
Question 24: A. dam


B. planning


C. plane


D. candle

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.
Question 25: The use of lasers in surgery has become relatively commonplace in recent years.

A. comparatively

B. absolutely


C. relevantly


D. almost

Question 26: The atomic bomb annihilated the whole city, so nothing was left standing.

A. disturbed


B. constructed


C. converted


D. destroyed
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions.
Question 27: I haven’t visited my hometown for a few years.

A. I have been in my hometown for a few years.

B. I last visited my hometown a few years ago.

C. I didn’t visit my hometown a few years ago.

D. I was in my hometown for a few years.

Question 28: “You cheated in the exam,” the teacher said to his students

A. The teacher insisted his students on cheating in the exam

B.  The teacher prevented his students from cheating in the exam

C. The teacher advised his students to cheat in the exam

D. The teacher accused his students of cheating in the exam
Question 29: It is possible that we won’t have to take an entrance exam this year. 
A. Perhaps we don’t have to take an entrance exam this year. 
B. We mustn’t take an entrance exam this year.
C. We mightn’t take an entrance exam this year. 
D. It is likely that we will take an entrance exam this year.
Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of primary stress in each of the following questions.
Question 30: A. prepare

B. repeat


C. purpose


D. police

Question 31: A. economics

B. philosophy


C. engineering


D. preposition
Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions.
Question 32: We(A) only get(B) home (C)from France(D) yesterday.
Question 33: Laser discs provide(A) images of better quality(B) than that(C) of either(D) television signals or video tapes.
Question 34: Even though (A) they are among the smallest(B) carnivores, weasels will attack animals that(C) are double its(D) size.
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions.

Question 35: I regret that you didn’t give me a chance to tell you the truth

A. I wish you didn’t give me a chance to tell you the truth

B. I wish you gave me a chance to tell you the truth

C. I wish you had given me a chance to tell you the truth

D. I wish you hadn’t given a chance to tell you the truth

Question 36: The phone stopped ringing the moment I got downstairs

A. No sooner had the phone stopped ringing than I got downstairs

B. After the phone had stopped ringing, I got downstairs

C. Hardly the phone had stopped ringing when I got downstairs

D. No sooner had I got downstairs than the phone stopped ringing
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions.
Have you ever entered a tropical rainforest? It’s a special, dark place completely different from anywhere else. A rainforest is a place where the trees grow very tall. Millions of kinds of animals, insects, and plants live in the rainforest. It is hot and humid in a rainforest. It rains a lot in the rainforest, but sometimes you don't know it's raining. The trees grow so closely together that rain doesn't always reach the ground. Rainforests make up only a small part of the Earth's surface, about six percent. They are found in tropical parts of the world. The largest rainforest in the world is the Amazon in South America. The Amazon covers 1.2 billion acres, or almost five million square kilometers. The second largest rainforest is in Western Africa. There are also rainforests in Central America, Southeast Asia, Northeastern Australia, and the Pacific Islands Rainforests provide us with many things. In fact, the Amazon Rainforest is called the "lungs of our planet" because it produces twenty percent of the world's oxygen. One fifth of the world's fresh water is also found in the Amazon Rainforest. Furthermore, one half of the world's species of animals, plants, and insects live in the Earth's rainforests. Eighty percent of the food we eat first grew in the rainforest. For example, pineapples, bananas, tomatoes, corn, potatoes, chocolate, coffee, and sugar all came from rainforests. Twenty-five percent of the drugs we take when we are sick are made of plants that grow only in rainforests. Some of these drugs are even used to fight and cure cancer. With all the good things we get from rainforests, it's surprising to find that we are destroying our rainforests. In fact, 1.5 acres, or 6,000 square meters, of rainforest disappear every second. The forests are being cut down to make fields for cows, to harvest the plants, and to clear land for farms. Along with losing countless valuable species, the destruction of rainforests creates many problems worldwide. Destruction of rainforests results in more pollution, less rain, and less oxygen for the world.

Question 37: What is the passage mainly about?
A. Where rainforest are located.   


B. Kinds of forests.
C. Facts about rainforests. 



D. How much oxygen rainforests make.

Question 38: According to the passage, rainforests provide human all of the following EXCEPT?

A. Oxygen

B. Lung problems
C. Drugs used to fight and cure cancer. 
D. Fresh water.
Question 39: Why is Amazon Rainforest called “Lungs of the planet”?

A. It uses much of the world’s oxygen. 


B. It helps circulation.
C. It provides much of our air




D. It helps us breathe.

Question 40: What is the most likely reason why the author is surprised that we are destroying rainforest?

A. They are necessary for the health of our planet.

B. It will be too difficult to grow food without them.
C. They are necessary for the fight against cancer.

D. It will be too expensive to replant them.

Question 41: The word “humid” in paragraph 1 is closest in meaning to______.

A. dehydrated 


B. dry



C. cool 


D. moist

Read the following text and circle the best answer among A, B, C, or D on your answer sheet for the questions
The best cloud computing services offer the opportunity for businesses to undergo digital transformation in order to improve efficiency and reduce costs.

Cloud services have revolutionized computing, not least through IaaS, PaaS, and especially SaaS, which have allowed businesses to develop virtualized IT infrastructure and deliver software through the cloud, independent of a user's operating system.

Even better still, businesses can also mix and match cloud services from different providers through cloud brokers in order to ensure these services work to maximum efficiency and cost effectiveness, but also to reduce the chances of vendor lock-in while also improving redundancy. This may require additional cloud management software, but for larger businesses the economic benefits can be significant.

Because cloud services are run through software platforms and virtualized networks, it means that it's easy to access and analyze data for the purposes of analytics as well as for business intelligence purposes. It also makes it easier to simplify all aspects of monitoring through cloud orchestration and the easy processing of log files through cloud logging services. The result is IT infrastructure that allows for better maintenance and patching, while providing for insights that would have previously been much more difficult to access.

Cloud computing services also offer the advantage of being scalable, which means not only can you access additional resources exactly as you need them, but you are also charged only for the services you use so there's no need to buy in extra hardware for additional redundancy.

This especially applies to when storing data, as online cloud storage can be treated as effectively limitless. Even though you might be using cloud databases for your structured data, you can also archive everything else into massive data lakes for additional processing using AI and machine learning for greater insights.

Altogether, cloud services offer unparalleled potential for improving business performance and increasing profits, and here we'll look at the best cloud computing service provider.

Question 42: Which best serves as the title for the passage?

A. Best cloud computing services


B. Virtualized IT Infrastructure

C. Software Platforms and Virtualized Networks
D. Cloud Computing Services
Question 43: The word “benefits” in paragraph 3 is closest in meaning to



.

A. messages


B. advantages


C. products


D. percentages

Question 44: In paragraph 2, cloud services from different providers can be mixed and marched in order to


.
A. ensure maximum efficiency and cost effectiveness
B. find suitable cloud brokers

C. make these potential services free



D. have additional cloud management software

Question 45: The word “that” in paragraph 4 refers to



A. files



B. services


C. result


D. IT infrastructure
Question 46: The word “limitless” in paragraph 6 is closest in meaning to


.

A. drowsy


B. vicious


C. infinite


D. gorgeous

Question 47: Which of the following is NOT true, according to the passage?

A. Cloud services have allowed business to develop virtualized IT infrastructure

B. With cloud services, it’s easy to access and analyse data for the purpose of analytics

C. Cloud computing services are powerful but not scalable

D. You can achieve everything else using AL and machine learning

Question 48: Which of the following can be inferred from paragraph 6?

A. Online cloud storage cannot be treated as effectively limitless

B. Cloud services improve business performance and increasing profits dramatically

C. Cloud databases for your structured data haven’t been ready to use

D. Machine learning for greater insights is technology of the far future

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best completes each of the following exchanges.
Question 49: Mike: “Our living standards have been improved greatly. ” - Susan: “.......................... ”
A. Thank you for saying so. 


B. Sure. I couldn’t agree more. 
C. No, it’s nice to say so 


D. Yes, it’s nice of you to say so.
Question 50: Cindy: “Your hairstyle is terrific, Mary!” - Mary: “.......................”
A. Yes, all right. 


B. Thanks, Cindy. I had it done yesterday. 
C. Never mention it. 


D. Thanks, but I’m afraid.
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Read the following text and circle the best answer among A, B, C, or D on your answer sheet for the questions
The best cloud computing services offer the opportunity for businesses to undergo digital transformation in order to improve efficiency and reduce costs.

Cloud services have revolutionized computing, not least through IaaS, PaaS, and especially SaaS, which have allowed businesses to develop virtualized IT infrastructure and deliver software through the cloud, independent of a user's operating system.

Even better still, businesses can also mix and match cloud services from different providers through cloud brokers in order to ensure these services work to maximum efficiency and cost effectiveness, but also to reduce the chances of vendor lock-in while also improving redundancy. This may require additional cloud management software, but for larger businesses the economic benefits can be significant.

Because cloud services are run through software platforms and virtualized networks, it means that it's easy to access and analyze data for the purposes of analytics as well as for business intelligence purposes. It also makes it easier to simplify all aspects of monitoring through cloud orchestration and the easy processing of log files through cloud logging services. The result is IT infrastructure that allows for better maintenance and patching, while providing for insights that would have previously been much more difficult to access.

Cloud computing services also offer the advantage of being scalable, which means not only can you access additional resources exactly as you need them, but you are also charged only for the services you use so there's no need to buy in extra hardware for additional redundancy.

This especially applies to when storing data, as online cloud storage can be treated as effectively limitless. Even though you might be using cloud databases for your structured data, you can also archive everything else into massive data lakes for additional processing using AI and machine learning for greater insights.

Altogether, cloud services offer unparalleled potential for improving business performance and increasing profits, and here we'll look at the best cloud computing service provider.

Question 1: Which best serves as the title for the passage?

A. Best cloud computing services


B. Virtualized IT Infrastructure

C. Software Platforms and Virtualized Networks
D. Cloud Computing Services
Question 2: The word “benefits” in paragraph 3 is closest in meaning to


.

A. messages


B. advantages


C. products


D. percentages

Question 3: In paragraph 2, cloud services from different providers can be mixed and marched in order to


.
A. ensure maximum efficiency and cost effectiveness
B. find suitable cloud brokers

C. make these potential services free



D. have additional cloud management software

Question 4: The word “that” in paragraph 4 refers to



A. files



B. services


C. result


D. IT infrastructure
Question 5: The word “limitless” in paragraph 6 is closest in meaning to


.

A. drowsy


B. vicious


C. infinite


D. gorgeous

Question 6: Which of the following is NOT true, according to the passage?

A. Cloud services have allowed business to develop virtualized IT infrastructure

B. With cloud services, it’s easy to access and analyse data for the purpose of analytics

C. Cloud computing services are powerful but not scalable

D. You can achieve everything else using AL and machine learning

Question 7: Which of the following can be inferred from paragraph 6?

A. Online cloud storage cannot be treated as effectively limitless

B. Cloud services improve business performance and increasing profits dramatically

C. Cloud databases for your structured data haven’t been ready to use

D. Machine learning for greater insights is technology of the far future

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.
Question 8: Losing my job was a


. I would not have found this one if it hadn’t happened.

A. bleeding heart

B. breath of fresh air

C. blessing in disguise
D. bone to pick with

Question 9: It is reported that human are the important reason for most species’ decline, habitat and


A. destroy


B. destructive


C. destructor


D. destruction

Question 10: The APC is a _____restaurant with a long and successful sales history.

A. respectful 


B. respecting             

C. respective               

D. respectable
Question 11: Mrs. Brown usually remembered her husband’s birthdays, _______
?
A. doesn’t she


B. did she


C. didn’t she


D. does she

Question 12: It is a very popular play, and it would be wise__________ seats well in advance.
A. occupy 


B. buy


C. book 



D. preserve

Question 13: Nowadays we rely increasingly


computers to regulate the flow of traffic in the town.
A. in



B. at



C. to



D. on

Question 14: Every day thousands of

fly the Atlantic for negotiations with American firms.

A. businessmen


B. dealers


C. merchants

D. tradesmen

Question 15: The more the economy grows,





A. the good people’s living condition is
B. the worse people’s living condition is

C. the better people’s living condition is
D. the best people’s living condition is
Question 16: Josh is one of the best students of the school. 

, he can’t pass the national chemistry exam.

A. Moreover


B. Therefore


C. Although


D. However

Question 17: My mother often wears a pair of



gloves when she washes the dishes.
A. black leather small comfortable Chinese


B. comfortable small black Chinese leather

C. comfortable small black leather Chinese


D. small comfortable black leather Chinese

Question 18: The university


by private funds as well as by tuition income

A. is supported

B. supports


C. is supporting

D. has supported
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions.

Question 19: I regret that you didn’t give me a chance to tell you the truth

A. I wish you didn’t give me a chance to tell you the truth

B. I wish you gave me a chance to tell you the truth

C. I wish you had given me a chance to tell you the truth

D. I wish you hadn’t given a chance to tell you the truth

Question 20: The phone stopped ringing the moment I got downstairs

A. No sooner had the phone stopped ringing than I got downstairs

B. After the phone had stopped ringing, I got downstairs

C. Hardly the phone had stopped ringing when I got downstairs

D. No sooner had I got downstairs than the phone stopped ringing
Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions.
Question 21: We(A) only get(B) home (C)from France(D) yesterday.
Question 22: Laser discs provide(A) images of better quality(B) than that(C) of either(D) television signals or video tapes.
Question 23: Even though (A) they are among the smallest(B) carnivores, weasels will attack animals that(C) are double its(D) size.
Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.
Question 24: When they



in the garden, the phone


.

A. worked/ was ringing
B. worked/ rang
C. were working/ rang

D. were working/ were ringing

Question 25: I hope they will have finished building the road 





A. after we came back last summer



B. by the time we come back next summer

C. until we will come back next summer



D. as soon as we came back last summer

Question 26:

from the horse back, he was taken to hospital and had an operation.

A. Having fallen

B. Fell



C. Fallen


D. Being fallen

Question 27: The government hopes to _________ its plans for introducing cable TV.
A. turn out 


B. carry out 


C. carry on 


D. keep on
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.
Question 28: The use of lasers in surgery has become relatively commonplace in recent years.

A. comparatively

B. absolutely


C. relevantly


D. almost

Question 29: The atomic bomb annihilated the whole city, so nothing was left standing.

A. disturbed


B. constructed


C. converted


D. destroyed
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions.
Have you ever entered a tropical rainforest? It’s a special, dark place completely different from anywhere else. A rainforest is a place where the trees grow very tall. Millions of kinds of animals, insects, and plants live in the rainforest. It is hot and humid in a rainforest. It rains a lot in the rainforest, but sometimes you don't know it's raining. The trees grow so closely together that rain doesn't always reach the ground. Rainforests make up only a small part of the Earth's surface, about six percent. They are found in tropical parts of the world. The largest rainforest in the world is the Amazon in South America. The Amazon covers 1.2 billion acres, or almost five million square kilometers. The second largest rainforest is in Western Africa. There are also rainforests in Central America, Southeast Asia, Northeastern Australia, and the Pacific Islands Rainforests provide us with many things. In fact, the Amazon Rainforest is called the "lungs of our planet" because it produces twenty percent of the world's oxygen. One fifth of the world's fresh water is also found in the Amazon Rainforest. Furthermore, one half of the world's species of animals, plants, and insects live in the Earth's rainforests. Eighty percent of the food we eat first grew in the rainforest. For example, pineapples, bananas, tomatoes, corn, potatoes, chocolate, coffee, and sugar all came from rainforests. Twenty-five percent of the drugs we take when we are sick are made of plants that grow only in rainforests. Some of these drugs are even used to fight and cure cancer. With all the good things we get from rainforests, it's surprising to find that we are destroying our rainforests. In fact, 1.5 acres, or 6,000 square meters, of rainforest disappear every second. The forests are being cut down to make fields for cows, to harvest the plants, and to clear land for farms. Along with losing countless valuable species, the destruction of rainforests creates many problems worldwide. Destruction of rainforests results in more pollution, less rain, and less oxygen for the world.

Question 30: What is the passage mainly about?
A. Where rainforest are located.   


B. Kinds of forests.
C. Facts about rainforests. 



D. How much oxygen rainforests make.
Question 31: According to the passage, rainforests provide human all of the following EXCEPT?

A. Oxygen

B. Lung problems
C. Drugs used to fight and cure cancer. 
D. Fresh water.
Question 32: Why is Amazon Rainforest called “Lungs of the planet”?

A. It uses much of the world’s oxygen. 


B. It helps circulation.
C. It provides much of our air




D. It helps us breathe.
Question 33: What is the most likely reason why the author is surprised that we are destroying rainforest?

A. They are necessary for the health of our planet.

B. It will be too difficult to grow food without them.
C. They are necessary for the fight against cancer.

D. It will be too expensive to replant them.

Question 34: The word “humid” in paragraph 1 is closest in meaning to______.

A. dehydrated 


B. dry



C. cool 


D. moist
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions.
Question 35: I haven’t visited my hometown for a few years.

A. I have been in my hometown for a few years.

B. I last visited my hometown a few years ago.

C. I didn’t visit my hometown a few years ago.

D. I was in my hometown for a few years.

Question 36: “You cheated in the exam,” the teacher said to his students

A. The teacher insisted his students on cheating in the exam

B.  The teacher prevented his students from cheating in the exam

C. The teacher advised his students to cheat in the exam

D. The teacher accused his students of cheating in the exam
Question 37: It is possible that we won’t have to take an entrance exam this year. 
A. Perhaps we don’t have to take an entrance exam this year. 
B. We mustn’t take an entrance exam this year.
C. We mightn’t take an entrance exam this year. 
D. It is likely that we will take an entrance exam this year.
Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of primary stress in each of the following questions.
Question 38: A. prepare

B. repeat


C. purpose


D. police

Question 39: A. economics

B. philosophy


C. engineering


D. preposition
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best completes each of the following exchanges.
Question 40: Mike: “Our living standards have been improved greatly. ” - Susan: “.......................... ”
A. Thank you for saying so. 


B. Sure. I couldn’t agree more. 
C. No, it’s nice to say so 


D. Yes, it’s nice of you to say so.
Question 41: Cindy: “Your hairstyle is terrific, Mary!” - Mary: “.......................”
A. Yes, all right. 


B. Thanks, Cindy. I had it done yesterday. 
C. Never mention it. 


D. Thanks, but I’m afraid.
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.
Question 42: There is growing concern about the way man has destroyed the environment.

A. ease     


B. attraction     

C. consideration    

D. speculation
Question 43: The minister came under fire for his rash decision to close the factory.

A. was dismissed    

B. was acclaimed    

C. was criticized    

D. was penalized

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks.
A stinky gym bag in your kitchen ? Who will be more upset by the smell - the men or the women in your family? (44) _______ scientists suggest that women not only smell, but feel, taste, and hear more accurately than men. 

Take colors, for example. Ono study suggests that men are not as good as women at distinguishing between(45) _______ of color, although they focus well on rapidly changing images. As for touch, small fingers have a finer sense of touch, whether male or female. 

Hearing is possibly one of the most debated areas, when talking about the senses. Evidence shows that boys hear as well as girls at birth, but with age, a man’s hearing may soon deteriorate. (46) __, environmental factors could play a role in this. Women may also be better at identifying different flavors (47) _______ need both taste and smell to experience, as studies have shown that they have more taste buds on their tongue. 

Going back to the smelly gym bag - yes, it’s likely that Mom will be the most (48) _______ out by it. But is that because women’s brains have more ‘smell cells’; or because you were too lazy to move it?

Question 44: A. Each 

B. Some 


C. Another 


D. Every

Question 45: A. smells 

B. senses 


C. shadows 


D. shades

Question 46: A. Moreover 

B. Therefore 


C. However 


D. Due to

Question 47: A. who 


B. which 


C. where 


D. whom

Question 48: A. taken 

B. sprung 


C. amazed 


D. freaked

Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions
Question 49: A. approached

B. sacrificed


C. unwrapped


D. obliged
Question 50: A. dam


B. planning


C. plane


D. candle
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Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions.
Question 1: We(A) only get(B) home (C)from France(D) yesterday.
Question 2: Laser discs provide(A) images of better quality(B) than that(C) of either(D) television signals or video tapes.
Question 3: Even though (A) they are among the smallest(B) carnivores, weasels will attack animals that(C) are double its(D) size.
Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.
Question 4: Every day thousands of

fly the Atlantic for negotiations with American firms.

A. merchants


B. dealers


C. businessmen

D. tradesmen

Question 5: The more the economy grows,





A. the good people’s living condition is
B. the worse people’s living condition is

C. the best people’s living condition is
D. the better people’s living condition is

Question 6: Josh is one of the best students of the school. 

, he can’t pass the national chemistry exam.

A. Moreover


B. Therefore


C. Although


D. However

Question 7: My mother often wears a pair of



gloves when she washes the dishes.
A. black leather small comfortable Chinese


B. comfortable small black Chinese leather

C. comfortable small black leather Chinese


D. small comfortable black leather Chinese

Question 8: The university


by private funds as well as by tuition income

A. is supported

B. supports


C. is supporting

D. has supported
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions.

Question 9: I regret that you didn’t give me a chance to tell you the truth

A. I wish you didn’t give me a chance to tell you the truth

B. I wish you gave me a chance to tell you the truth

C. I wish you had given me a chance to tell you the truth

D. I wish you hadn’t given a chance to tell you the truth

Question 10: The phone stopped ringing the moment I got downstairs

A. No sooner had the phone stopped ringing than I got downstairs

B. After the phone had stopped ringing, I got downstairs

C. Hardly the phone had stopped ringing when I got downstairs

D. No sooner had I got downstairs than the phone stopped ringing
Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.
Question 11: Losing my job was a


. I would not have found this one if it hadn’t happened.

A. bleeding heart

B. breath of fresh air

C. blessing in disguise
D. bone to pick with

Question 12: It is reported that human are the important reason for most species’ decline, habitat and


A. destroy


B. destructive


C. destructor


D. destruction

Question 13: The APC is a _____restaurant with a long and successful sales history.

A. respectful 


B. respecting             

C. respective               D. respectable
Question 14: Mrs. Brown usually remembered her husband’s birthdays, _______
?
A. doesn’t she


B. did she


C. didn’t she


D. does she

Question 15: It is a very popular play, and it would be wise__________ seats well in advance.
A. occupy 


B. buy



C. book 



D. preserve

Question 16: Nowadays we rely increasingly


computers to regulate the flow of traffic in the town.
A. in



B. at



C. to



D. on

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.
Question 17: When they



in the garden, the phone


.

A. worked/ was ringing
B. worked/ rang
C. were working/ rang

D. were working/ were ringing

Question 18: I hope they will have finished building the road 





A. after we came back last summer



B. by the time we come back next summer

C. until we will come back next summer


D. as soon as we came back last summer

Question 19:

from the horse back, he was taken to hospital and had an operation.

A. Having fallen

B. Fell



C. Fallen


D. Being fallen

Question 20: The government hopes to _________ its plans for introducing cable TV.
A. turn out 


B. carry out 


C. carry on 


D. keep on
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.
Question 21: The use of lasers in surgery has become relatively commonplace in recent years.

A. comparatively

B. absolutely


C. relevantly


D. almost

Question 22: The atomic bomb annihilated the whole city, so nothing was left standing.

A. disturbed


B. constructed


C. converted


D. destroyed
Read the following text and circle the best answer among A, B, C, or D on your answer sheet for the questions
The best cloud computing services offer the opportunity for businesses to undergo digital transformation in order to improve efficiency and reduce costs.

Cloud services have revolutionized computing, not least through IaaS, PaaS, and especially SaaS, which have allowed businesses to develop virtualized IT infrastructure and deliver software through the cloud, independent of a user's operating system.

Even better still, businesses can also mix and match cloud services from different providers through cloud brokers in order to ensure these services work to maximum efficiency and cost effectiveness, but also to reduce the chances of vendor lock-in while also improving redundancy. This may require additional cloud management software, but for larger businesses the economic benefits can be significant.

Because cloud services are run through software platforms and virtualized networks, it means that it's easy to access and analyze data for the purposes of analytics as well as for business intelligence purposes. It also makes it easier to simplify all aspects of monitoring through cloud orchestration and the easy processing of log files through cloud logging services. The result is IT infrastructure that allows for better maintenance and patching, while providing for insights that would have previously been much more difficult to access.

Cloud computing services also offer the advantage of being scalable, which means not only can you access additional resources exactly as you need them, but you are also charged only for the services you use so there's no need to buy in extra hardware for additional redundancy.

This especially applies to when storing data, as online cloud storage can be treated as effectively limitless. Even though you might be using cloud databases for your structured data, you can also archive everything else into massive data lakes for additional processing using AI and machine learning for greater insights.

Altogether, cloud services offer unparalleled potential for improving business performance and increasing profits, and here we'll look at the best cloud computing service provider.

Question 23: Which best serves as the title for the passage?

A. Best cloud computing services


B. Virtualized IT Infrastructure

C. Software Platforms and Virtualized Networks
D. Cloud Computing Services
Question 24: The word “benefits” in paragraph 3 is closest in meaning to



.

A. messages


B. advantages


C. products


D. percentages

Question 25: In paragraph 2, cloud services from different providers can be mixed and marched in order to


.
A. ensure maximum efficiency and cost effectiveness
B. find suitable cloud brokers

C. make these potential services free



D. have additional cloud management software

Question 26: The word “that” in paragraph 4 refers to



A. files



B. services


C. result


D. IT infrastructure
Question 27: The word “limitless” in paragraph 6 is closest in meaning to


.

A. drowsy


B. vicious


C. infinite


D. gorgeous

Question 28: Which of the following is NOT true, according to the passage?

A. Cloud services have allowed business to develop virtualized IT infrastructure

B. With cloud services, it’s easy to access and analyse data for the purpose of analytics

C. Cloud computing services are powerful but not scalable

D. You can achieve everything else using AL and machine learning

Question 29: Which of the following can be inferred from paragraph 6?

A. Online cloud storage cannot be treated as effectively limitless

B. Cloud services improve business performance and increasing profits dramatically

C. Cloud databases for your structured data haven’t been ready to use

D. Machine learning for greater insights is technology of the far future

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of primary stress in each of the following questions.
Question 30: A. prepare

B. repeat


C. purpose


D. police

Question 31: A. economics

B. philosophy


C. engineering


D. preposition
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best completes each of the following exchanges.
Question 32: Mike: “Our living standards have been improved greatly. ” - Susan: “.......................... ”
A. Thank you for saying so. 


B. Sure. I couldn’t agree more. 
C. No, it’s nice to say so 


D. Yes, it’s nice of you to say so.
Question 33: Cindy: “Your hairstyle is terrific, Mary!” - Mary: “.......................”
A. Yes, all right. 


B. Thanks, Cindy. I had it done yesterday. 
C. Never mention it. 


D. Thanks, but I’m afraid.
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.
Question 34: There is growing concern about the way man has destroyed the environment.

A. ease     


B. attraction     

C. consideration    

D. speculation
Question 35: The minister came under fire for his rash decision to close the factory.

A. was dismissed    

B. was acclaimed    

C. was criticized    

D. was penalized

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks.
A stinky gym bag in your kitchen ? Who will be more upset by the smell - the men or the women in your family? (36) _______ scientists suggest that women not only smell, but feel, taste, and hear more accurately than men. 

Take colors, for example. Ono study suggests that men are not as good as women at distinguishing between(37) _______ of color, although they focus well on rapidly changing images. As for touch, small fingers have a finer sense of touch, whether male or female. 

Hearing is possibly one of the most debated areas, when talking about the senses. Evidence shows that boys hear as well as girls at birth, but with age, a man’s hearing may soon deteriorate. (38)__, environmental factors could play a role in this. Women may also be better at identifying different flavors (39) _______ need both taste and smell to experience, as studies have shown that they have more taste buds on their tongue. 

Going back to the smelly gym bag - yes, it’s likely that Mom will be the most (40) _______ out by it. But is that because women’s brains have more ‘smell cells’; or because you were too lazy to move it?

Question 36: A. Each 

B. Some 


C. Another 


D. Every

Question 37: A. smells 

B. senses 


C. shadows 


D. shades

Question 38: A. Moreover 

B. Therefore 


C. However 


D. Due to

Question 39: A. who 


B. which 


C. where 


D. whom

Question 40: A. taken 

B. sprung 


C. amazed 


D. freaked

Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions
Question 41: A. approached

B. sacrificed


C. unwrapped


D. obliged
Question 42: A. dam


B. planning


C. plane


D. candle

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions.
Have you ever entered a tropical rainforest? It’s a special, dark place completely different from anywhere else. A rainforest is a place where the trees grow very tall. Millions of kinds of animals, insects, and plants live in the rainforest. It is hot and humid in a rainforest. It rains a lot in the rainforest, but sometimes you don't know it's raining. The trees grow so closely together that rain doesn't always reach the ground. Rainforests make up only a small part of the Earth's surface, about six percent. They are found in tropical parts of the world. The largest rainforest in the world is the Amazon in South America. The Amazon covers 1.2 billion acres, or almost five million square kilometers. The second largest rainforest is in Western Africa. There are also rainforests in Central America, Southeast Asia, Northeastern Australia, and the Pacific Islands Rainforests provide us with many things. In fact, the Amazon Rainforest is called the "lungs of our planet" because it produces twenty percent of the world's oxygen. One fifth of the world's fresh water is also found in the Amazon Rainforest. Furthermore, one half of the world's species of animals, plants, and insects live in the Earth's rainforests. Eighty percent of the food we eat first grew in the rainforest. For example, pineapples, bananas, tomatoes, corn, potatoes, chocolate, coffee, and sugar all came from rainforests. Twenty-five percent of the drugs we take when we are sick are made of plants that grow only in rainforests. Some of these drugs are even used to fight and cure cancer. With all the good things we get from rainforests, it's surprising to find that we are destroying our rainforests. In fact, 1.5 acres, or 6,000 square meters, of rainforest disappear every second. The forests are being cut down to make fields for cows, to harvest the plants, and to clear land for farms. Along with losing countless valuable species, the destruction of rainforests creates many problems worldwide. Destruction of rainforests results in more pollution, less rain, and less oxygen for the world.

Question 43: What is the passage mainly about?
A. Where rainforest are located.   


B. Kinds of forests.
C. Facts about rainforests. 



D. How much oxygen rainforests make.
Question 44: According to the passage, rainforests provide human all of the following EXCEPT?

A. Oxygen

B. Lung problems
C. Drugs used to fight and cure cancer. 
D. Fresh water.
Question 45: Why is Amazon Rainforest called “Lungs of the planet”?

A. It uses much of the world’s oxygen. 


B. It helps circulation.
C. It provides much of our air




D. It helps us breathe.
Question 46: What is the most likely reason why the author is surprised that we are destroying rainforest?

A. They are necessary for the health of our planet.

B. It will be too difficult to grow food without them.
C. They are necessary for the fight against cancer.

D. It will be too expensive to replant them.

Question 47: The word “humid” in paragraph 1 is closest in meaning to______.

A. dehydrated 


B. dry



C. cool 


D. moist
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions.
Question 48: I haven’t visited my hometown for a few years.

A. I have been in my hometown for a few years.

B. I last visited my hometown a few years ago.

C. I didn’t visit my hometown a few years ago.

D. I was in my hometown for a few years.

Question 49: “You cheated in the exam,” the teacher said to his students

A. The teacher insisted his students on cheating in the exam

B.  The teacher prevented his students from cheating in the exam

C. The teacher advised his students to cheat in the exam

D. The teacher accused his students of cheating in the exam
Question 50: It is possible that we won’t have to take an entrance exam this year. 
A. Perhaps we don’t have to take an entrance exam this year. 
B. We mustn’t take an entrance exam this year.
C. We mightn’t take an entrance exam this year. 
D. It is likely that we will take an entrance exam this year.
